Errata:
Computing Word Meanings by Interpolation

Updated November 15, 2005

e In the sentence starting at line 3 of page 2 (after the bullet ligfxtérm” should
read “lineari-term” and “lineard-term” should read 1l-term”.

e Definition 1 on page 2 should read:

Definition 1. Let M” andN® be closedll-terms (with constants) ia-normal form.
NB is BCI-definablen terms ofMA (written NB < M4) if and only if there is a linear
A-term PB[Z*] without constants whose only free variablefssuch thaPB[MA] —»4
NGB,

e In the third paragraph of page 4, the first line should be changed to:

A way of circumventing this diiculty is to use a sequence of formulgs ..., E



